



เติมข้อมูลใน ให้สมบูรณ์และสอดคล้องตามขั้นตอน

ยึดที่มา ลำดับก่อนหลังเป็นสำคัญ.

$$5x + 5 = 65$$

$$5x + 5 - 5 = 65 - 5$$

$$5x = \boxed{}$$

$$5x \div 5 = \boxed{} \div \boxed{}$$

$$x = \boxed{}$$

$$5(x + 5) = 65$$

$$5x + \boxed{} = 65$$

$$5x + 25 - \boxed{} = \boxed{} - \boxed{}$$

$$5x = \boxed{}$$

$$5x \div \boxed{} = \boxed{} \div \boxed{}$$

$$x = \boxed{}$$

$$5(x + 5) = 65$$

$$5(x + 5) \div \boxed{} = 65 \div \boxed{}$$

$$x + 5 = \boxed{}$$

$$x + 5 - \boxed{} = \boxed{} - \boxed{}$$

$$x = \boxed{}$$

$$3(x + 5) = 45$$

$$3x + \boxed{} = 45$$

$$3x = 45 - \boxed{}$$

$$3x = \boxed{}$$

$$x = \boxed{} \div \boxed{}$$

$$x = \boxed{}$$

$$4x + 12 = 60$$

$$4x = 60 - \boxed{}$$

$$4x = \boxed{}$$

$$4x \div \boxed{} = \boxed{} \div \boxed{}$$

$$x = \boxed{}$$

$$6(x - 5) = 24$$

$$x - 5 = 24 \div \boxed{}$$

$$x = \boxed{} + \boxed{}$$

$$x = \boxed{}$$

$$4(x + 6) = 2(x + 26)$$

$$4x + \boxed{} = 2x + \boxed{}$$

$$4x - \boxed{} = 52 - \boxed{}$$

$$2x = \boxed{}$$

$$x = \boxed{} \div \boxed{}$$

$$x = \boxed{}$$

$$7x - 42 = 4x - 6$$

$$7x - \boxed{} = -6 + \boxed{}$$

$$3x = \boxed{}$$

$$x = \boxed{}$$

$$3(x - 42) = -6$$

$$x - 42 = -6 \div \boxed{}$$

$$x = \boxed{} + \boxed{}$$

$$x = \boxed{}$$

$$3(x - 3) = 2x - 8$$

$$\boxed{} - \boxed{} = 2x - 8$$

$$3x - \boxed{} = \boxed{} + \boxed{}$$

$$x = \boxed{}$$

$$6(x + 4) = 3(x + 10)$$

$$\boxed{}(x + 4) = x + 10$$

$$\boxed{} - x = 10 - \boxed{}$$

$$x = \boxed{}$$